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Please make sure that the printed pages in this question paper of PartII are 8 in
number and it contains 35 questions.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination. .

a3
General Instructions :
i) @ v a8
All questions are compulsory.
i) T w1 @ 35 o Tghe W & JT 5T 1 8% 7 ¥ Frger ol
Jav A
Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.
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"R : Ry o g T (1-18) F g 9% IvgF Reey giae

Directions : Select the most appropriate option from those given below each question
(1 to 18):

1. o e agg ¥ & 1
(A) g B SR (B) IO @ s
(C) TR A (D) S @
A positively charged body has in it : .
(A) Excess of Neutrons - | (B) Excess of Elt:t::trons
(C) Deficiency of Electrons (D) Deficiency of Protons

2. erra%w-ge%a1%@«%@1@%10%%%%%%@%@

GIEG I 1
(A) 10 A/ (B) S00 A /FFiH
(C) 1000 ~ge-i/FAH (D) 250 e/FAM

Two plates are at 1 cm a part and potential difference between them is 10 volt.
The Intensity of electric field between the plates is :

(A) 10 Newton/Coulomb (B) 500 Newton/Coulomb
(C) 1000 Newton/Coulomb - (D) 250 Newton/Coulomb

3. ﬁ@mmuywm&mwﬁwa%: |
ne

(A) Jj=neVa ' (B) J =V_d
r = _L.’Q. . (D) j = 1

€ J= ne neV,

The relation between current density (j) and drift velocity (Vq) is :
i = neV. B) j=—=

(A) j= neVd i=
. V4 D) el

€ J= ne 0 neVy
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4. Rmmmmmﬁmmmmmaamwﬁﬁa

T .
(A) 2R (B) 4R
(C) 6R (D} 8R

The length of a metallic wire of R ohm resistance is strctchcd two times its
initial length. Its new resistance is :

(A) 2R (B) " 4R
(C) 6R ' (D) 8R
5. TRHM AR I FIaAT & | 1
() Fa@ I & (B) Fua g
g @ T A (D) 3 &t ¥ & B
A moving charge produces : - |
(A) Electric field only (B) Magnetic field only

L

(C) Both Electric and Magnetic fields (D) None of the fields

6. A g FA-Yaw : T
(A) T [y W wEH-g@ B FEdl & (B) Iud w el gdf 3 Pee wedt ¥
(C) TH-gae # +it T8 Fe gHN (D) T & AF ¥ Predl &

Two magnetic lines of forces :
(A) Cut each other at the neutral point 4

(B) Cut each other near north or south pole
(C) Never cut each other
(D) Cut at the middle of magnet

7. T8N W@ @ AR F QU A VR I g o A w0 1

(A) T P AT W (B) & & dsrar W
(C) & % N9 T 3 IRa™ T (D) ST F W

The magnetic flux threading a wire loop placed in a magnetic field depend
upon :

(A) Area of the loop
(B) Magnitude of the field

(C) Orientation of the loop with respect to the field
(D)- All of the above
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8. @ g o A Rew & o= AW T | 1
(A) =1 & P |/ (B) TR 3 & gy B Fraw @
() "TA-¥FE & Fram | (D) Uaax & Frm |
Direction of Induced Current is given by :
(A) Lenz's Law (B) Fleming's Left Hand Rule
(C) Biot-Savert's Law (D) Ampere's Law
9. @ ¥ R et SD T -3D ¥ T F W@ ¥, I WY Beea-gd © o
(A) 50 3 . (B) -50 &
(C) 258q - (D) —25 & -

Two lens of power SD and -3D are placed in contact. Focal length of t.he
combination will be : '

Two lens of power SD and -3D are placed in contact. Focal length of the
combination will be :

(A) 50 cm (B) -50 cm
(C) 25cm _ (D) -25cm
10. YRS o 3 69 9 H ST g § ? : | 1
o FIRE QR (B) ferqor

(C) WEdA | "~ (D) @R
Which phenomena is used in optical fibre ?
(A) Total Internal Reflection {B) Dispersion
(C) Reflection (D) Interference

11, Frel B 3 R e Ree @ o ¥ | 1
(A) ST For > FEET T (B) SO H = FriwT @
(C) S9aT Hor < e @t " (D) TRE A AW

Condition of minimum deviation for a Prism is :
(A) Angle of Incidence > Angle of Emergence
(B) Angle of Incidence = Angle of Emergence
(C) Angle of Incidence < Angle of Emergence
(D) None of the above
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12.m%%fﬂﬂnﬁmﬂmﬁtﬂ%mﬂaﬂm:ﬁrgaﬂﬁmmﬁﬂ%m= 1
(A) =T T B (B) g 3
(C) s (D) = Yot o o o ¥

In Young's double slit experiment, the screen is moved away from the plane of
the slits, angular separation of the Fringes :

(A) rcmain constant (B) increases
(C} dccreascs ' (D) interference pattern disappears
13. 100 V % fvEidX g afe Bl @l @ gefm 2-areh aoid @ 1
(A) 1.127 A (B) 11.27A
(C) 12.27A (D) 1.227 A

dc-Broglic wavelength associated with an electron, accelerated through a
potential difference of 100 Volt is :

(A) 1.127 A B) 11.27A
(C) 12.27A ’ (D) 1.227A -

%zm%ﬁﬁmamm%ﬁ@m%mmaﬁmmmﬁ%ﬂw

T QR o R 1
(A) P & (B) STEREA &t
(C) wHE @ (D) @ H

Awarded the Nobel prize in physics for his contnbuﬂon to theoretical physics
and the photoelectnc effect in 1921 was :

(A) Millikan (B) Einstein
(C) Rutherford - (D) Compton
15,%WWMWMAW‘MRW%: 1
(A) TE (B) HH=GHH
(C) wIHEH (D) U |l
All nuclides with same mass number A are called :
(A) Isobars (B) Isotones
(C) Isotopes (D) Al of the above
66828/(Set : B)/ i ‘ . P.T.O.
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16. TEEM TN A qu AR orawd § q@ag B ga Ho T -3.4 eV B T SHaw

T g B e Tt ?
(A) -3.4 ¢V (B) 6.8cV
(C) -6.8eV (D) 3.4 eV

The total energy of an electron in the first excited state of the hydrogen atom is

about -3.4 eV. Kinetic energy of the electron in this state is :
(A) -3.4 eV . (B) 6.8eV
(C) -6.8eV (D) 3.4eV

17. € p-n 8 R spRim amw srwgea B o 8, @ 9 .
(A) Tavg v somm 2 (B) EHET Aqed ONT H I FX adl &
(C) fava Tuw Ft o9 T 2w ® (D) IWF § ¥ g 72
When a forward biased is applied to a p-n junction, it :
(A) Raises the potential barrier
(B) Reduces the majority carrier current to zero

(C) Lowers the potential barrier
(D) None of the above

18. W @ Gt s Rt F R R, ol v Gl oz qm c A A2 B

77

a‘ﬁ'ﬂf%:
(A) TEE _ . : (B) Adum® |
(C) FEwEh (D) I90e ¥ ¥ B @

Energy band of substance shown in the figure, where V is valence band and C

is conduction band :

////}C
\ 7

Substance is :
(A) Metal (B) Semiconductor
(C) Insulator (D) None of the above

R : (v 19 & 27) gygaa ouv @ Ra &l &) g e -
Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :

19, fgg & 99 R & @ @ @ ..., % waifes s @ &

Electric field is in the direction in which the ............... decreases steepest.
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20.

21,

(7) 5628/(Set : B)
T EE STAY aeR @ IO orent 81 argelt ¥ 98 R oMY e e 211

Conductivity ariscs [rom mobile charge carriers. In mctals, these mobile
charge carriers arc ........oveunes

M%Wgﬁﬁﬁﬁm!ﬂ%ﬂgﬂm%ﬂmw.m ....... g & 1

The value of magnetic ficld at any point in the open space inside the toroid
IS veveiinnns ‘

22,
SI unit of self-inductance is ..............

23. ... ﬁwﬁ%wﬁwwﬁfﬁ%&ﬂm@umwwﬂ%zﬁﬂﬁ
A W HTT 81 . 1
One common way to generate ............. rays is to bombard a metal target by
high energy electrons. https://www.haryanaboard.com

24. VW A HA & FET D ... % from sfoaRa R
Snell expcriméntally obtained the laws of ............... of light,

25. HEN v BT W FA .oeeennnnn, gt B 1
Energy of photon having frequency vis ............... .

26. .ererernn. ¥ o AT Pt T 98T AN 99§ - 1
IN cvviiiinenn, , lighter nuclei combine to form a larger nucleus.

27. Bl p-n € 3 Fefor & a9 & weyel oRFE SR 8 - RRer aem e I 1

Two important process occur during the formation of a p-n junction : diffusion
and ................

Rdsr : (7 28 #35)»@’??%@6’9?7?#@?@3&7%3&%{’

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :

28.

29,

argell & Pl S w9 D T B A TSq @ 7 1
What is the effect on relaxation time of electrons in metals, with increase in
temperature.

Q o SRRy g § g3 8 1% 6 o wm R 7 1

Two unequal resistance are connected in parallel. What is same for them ?
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30.

31.

32.

33.

34.

35.

(8) | 5628/(Set : B)
Ue 3 TER gA W A R F A Rea an & 2 1

What is the value of anglc of dip at the Earth's magnetic poles ?

mz?lﬁrrﬁtfw-{ﬂq‘?aﬁaﬁﬁﬁzoﬁﬁgmmﬂumﬁﬁ-mﬁm@ar@iw%l N
3 g0 ol SRR T A 2 1

A point source of light is placed at a distance of 20 ¢m from a convex lens of
focal length 10 em. Where should image formed on the other side of lens.

TEAV SR 9 ® OF WA (ST9ecHiE n) F srqafia dar 1 oMy @ argakia
P TRE B S T B 1
Monochromatic light is refracted from air_into a medium of refractive index n.
What is the-ratio of the wavelengths of the incident and the refracted waves.

mwawaﬁ%&fﬁﬁm&raﬁwmﬂﬁﬁaﬁaﬁ%wﬁvﬁaﬁmw
FHTH F S e a8 & 9 FawR B & 7 1

Two light waves of equal amplitude and wavelength are superimposed. What is
the phase difference between the waves so that amplitude of the resultant
wave will be maximum,

m@mm%aﬁaﬁfﬁﬁzﬁﬁﬁﬂ%ﬁmﬁﬁmr@%mmﬁﬁm
R 2t ? ‘ ;

The radius of the first electron-orbit in hydrogen atom of Bohr model is r,.
What will be the radius of the second orbit. |

qaaaﬁamzﬁﬁsaaﬂwqﬁrm 8x10" W T BR A 5x10'2 TN Y ok
p-eRY BT 3TYal n-TRYI 1

In a semiconductor, the concentration of electrons is 8:-:1013 c¢m-3 and that of
holes is 5x10'2 ¢cm=3. Isita p-type or n-type semiconductor ?"
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